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Assessment: Certificate in International Financial Reporting ThmkAhead

Question 1. Y Co has issued 100 shares to its directors for services rendered during the year ended 31 December
20X5. The value of the shares at the grant date (30 Novernber 20X5) was $5 per share. At 31 December 20X5, the
chares were valued at $6 per share. The accounting entry for the issue of the shares would be:

Charge expense of $500, and increase accumulated reserves by $500

Charge expense of $600 and increase secumulated reserves by $600

@mmep Charge expense of $500 and increase equiity by $500

Charge expense of $600 and increase equity by $600.

answers on a summaiy sheet at the e

Note: You will be able to review all of your :
lick the Mark. _qu_esﬁ@n'-far vie

entries for specific review in the summary sheet, ¢

Scanned by CamScanner



hitpsi/fequals.accaglobal.com/acy seasment.ns 075 3980F 2438341 EFB02583 90004038367 EditDocument |

Assessment: Certificate in International Financial Reporting Think Ahead
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Question 2. Borrower Co has a policy of capitalising interest costs on self-constructed assets in accordance with =
IAS 23 Borrowing Costs.

During the year it has the following Sources of borrowings

Average outstanding Interest Cost
liability($'000) ($'000)

] Medium term bank debt 10,000 900
50 year term debt 25,000 2.000
Bank overdraft 5,000 600

All the borrowings have been used to finance the production of qualifying assets but none relate to a specific
qualifying asset. What is the appropriate capitalisation rate to apply to the qualifying assets?

me—_ Nil %
8.29%
=0 8.75%
3 10.0% a

Note: You will be able to review all of your answers on a summary sheet at the end of the assessment. To highlight
entries for specific review in the summary sheet, click the 'Mark question for review box' below.
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Assessment: Certificate in International Financial Reporting

Question 3. The following information relates to Grass Co for the years ended 31 December 20X1 and 20X2:
20X1 202

$ $
Profit before tax 24.000 18,000

Trade receivables 135,000 129,000
Trade payables 112,000 101,000
Inventory 76,000 67,000
Income tax paid 8,000 4.500

What is Grass Co's net cash from operating activities for the year ended 31 December 20X2?

; fq review all of your answers on a sumnmary sheet at the end of
W in the summary sheet, click the "Mark question for 1

B Submit answer and continue §
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Question 4. In accordance with [AS 37 Prowsmns Commgent Liabilities and Contingent Assets, in Whlch of the
following circumstances should an expense for $450,000 be recognised? .

' For damages in a lawsuit that the reporting company has a 75% chance of losing. The damages claim is for
$600,000

+ For the expected cost to dismantle an oil platform as required by law. The cost is $700,000, which has a present
value of $450,000,

' For the $450,000 cost to make good land contammated as a result of past years' operations. A law
clear up is virtually certain to be enacted. [ .

' For the $450,000 cost of ﬁtnng fire safety eqmpment o comply with alaw coming into effect in the
financial year. = ; _ |
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n 7. What is the status of an IFRIC?
s the same status as a standard |
only be complied with if there is no standard on the subject
ce with an IFRIC is optional =

a standard on the subject
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be fully consolidated
1d be i u]_lyigpﬁs.olidated

ould be ;éq1ﬁt'y accounted for in the grou
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~ Question 25. On 31 December 2014, Merigo Co sold goods to a customer for $10 million, representin: :

cost of 25%. In order to encourage sales, Merige Co has given the customer interest free credit with th
‘amount becoming payable in three years time. Interest rates are currently 4% per annum, meaning that
ent value of $10million is $8.9million and the present value of $8million is $7.1million.

ount should Merigo Co record &s;:ré{fériﬁe‘jh the statement of profit or loss for the year ended -
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